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QUESTION 1

You plan to create an application for your company. The application will run automated routines and write the results to
a text-based log file. Little or no user interaction is required. 

Security requirements on the host computers prevent you from running applications on startup, and users must be able
to see the status easily on the screen. The host computers also have limited memory and monitors that display only two 

colors. These computers will have no network connectivity. 

Which type of application should you use for this environment? 

A. Directx 

B. Windows Service 

C. console-based 

D. Windows Store app 

Correct Answer: A 

 

QUESTION 2

You need to allow a consumer of a class to modify a private data member. 

What should you do? 

A. Assign a value directly to the data member. 

B. Provide a private function that assigns a value to the data member. 

C. Provide a public function that assigns a value to the data member. 

D. Create global variables in the class. 

Correct Answer: C 

In this example (see below), the Employee class contains two private data members, name and salary. As private
members, they cannot be accessed except by member methods. Public methods named GetName and Salary are
added to 

allow controlled access to the private members. The name member is accessed by way of a public method, and the
salary member is accessed by way of a public read-only property. 

Note: The private keyword is a member access modifier. Private access is the least permissive access level. Private
members are accessible only within the body of the class or the struct in which they are declared 

Example: 

class Employee2 

{ 

98-361 VCE Dumps | 98-361 Study Guide | 98-361 Braindumps                                2 / 4

https://www.passapply.com/98-361.html
https://www.passapply.com/98-361.html
https://www.passapply.com/98-361.html


https://www.passapply.com/98-361.html
2024 Latest passapply 98-361 PDF and VCE dumps Download

private string name = "FirstName, LastName"; 

private double salary = 100.0; 

public string GetName() 

{ 

return name; 

} 

public double Salary 

{ 

get { return salary; } 

} 

} 

 

QUESTION 3

You have a SQL Server database named MyDB that uses SQL Server Authentication. 

Which connection string should you use to connect to MyDB? 

A. Data Source=MyDB; UserID=username; Password=P@sswOrd; Initial Catalog=Sales 

B. Data Source=MyDB; Integrated Security=SSPI; Initial Catalog=Sales 

C. Data Source=MyDB; Integrated Security=True; Initial Catalog=Sales 

D. Data Source=MyDB; Trusted_Connection=True; MultipleActiveResultSets=True; Initial Catalog=Sales 

Correct Answer: A 

 

QUESTION 4

Which type of function can a derived class override? 

A. a non-virtual public member function 

B. a private virtual function 

C. a protected virtual member function 

D. a static function 

Correct Answer: C 

You can override virtual functions defined in a base class from the Visual Studio. The override modifier is required to
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extend or modify the abstract or virtual implementation of an inherited method, property, indexer, or event. 

 

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. 

A data dictionary that describes the structure of a database is called metadata. 

Select the correct answer if the underlined text does not make the statement correct. Select "No change is needed\\'\\' if
the underlined text makes the statement correct. 

A. No change is needed 

B. normalization 

C. a database management system (DBMS) 

D. metacontent 

Correct Answer: A 
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